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import random

secret = random.randint(l, 108)

guess =
tries = @

print ("{fIF | HE—MERHEA  HE—WE 1 ")
print ("X MEFE1RI9ZE, HELTFVANES, )

while guess != secret and tries < 6:
guess = int(input("{RIBRIEESZ D2 ™)
if guess < secret:

print ("AMET , HAiNE L)
elit guess > secret:
print ("KE&7T , BTEIE! ")

tries = tries + 1

if guess == secret:

print ("IEXWA , {FXEAIET |, RANETXRAWE , REEIT 1)
else:

print ("EN=T , MR TREFIE! ")

print ("X THEHFE", secret)
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MR =1, MES EZEEEIE, LIRENR =1, WEME parent (i) 25 S0/2]. [2]

INFE 2i=n, mlfiﬁwm TMEIE L Ichild () EE S 2 [2]
MR 2ik1=n, MFS i THEL, FUERET rchild (i) E5 S 2i+1. [2]
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datetime datetime
time

week_num(start_time, end_time):
week_start = datetime.strptime(start_time )
week_end = datetime.strptime(end_time )

int (week_end.isocalendar()[1])
int(week_start.isocalendar()[1])
week_end.isocalendar()[1] - week_start.isocalendar()[1]

int(week_num( time.strftime( time.localtime(time.time()))))






datetime

time_1
time_2

time_1_struct
time_2_struct

total_seconds

— = |

min_sub = total_seconds /
1nt( )
int(int{min_sub))

min_sub = total_seconds /

(int(min_sub)+1)

datetime

)

)

int(total_seconds))

date

datetime.strptime(time_1
datetime.strptime(time_2

(time_2_struct - time_1_struct).total_seconds()
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